
Tempo Tantrum

Solve the problems.

There are 120 musicians in the orchestra.
20% of the orchestra is in the woodwinds section.
How many musicians are in the woodwinds section?

30% of the brass section play trumpet.
If 6 musicians play trumpet, how many musicians are in the brass section?

28% of what number is 21?

What is 55% of 160?

What is 35% of 60?

What is 18% of 150?

30% of what number is 48?

32% of what number is 40?

What is 60% of 15?

5% of what number is 6?

What is 40% of 130?

56% of what number is 14?

60% of what number is 36?

What is 28% of 50?
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